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I analysis of sequence of mnaon, makeup of opening mwn
a  following man, which includes a single act with multiple violations, Xin chose my1aw 2->4
b question: why do naw and oyn open with singular “2->4”, whereas here we have all 4 occurences?
i answer: m»av / nrmon My together ('n ®1p7); both have 71 n%Y - brought together - mentioned all 4
¢ question: why start with maw but then focus details (3-X ©’p79) on ARMVN MY P?
i answer: NRMYN MY’ has minimal parameters; wants to cover it and move on to mmaw
II  Identifying author of n1wn
a  setup: a priori explanations of “2->4” in each case:
i myaw; 2 - future (enjoy/abstain); 4 past (enjoyed/abstained)
i nrmon MT: 2 - forgetting status of NkmL (eating DwTp/entering WIpn); 4 - forgetting wwTR/WIPN
iii nawn MXRR; 2 - exiting from inside, educing to outside (1”n7); 4 — inverse to inside (")
iv. oy mrIy; 2 - nRw ,mn3; 4 — secondary hues of each
b presentation of problem:cannot be »™ (no liability for wpn nYyn) nor YRYNY’ " (no liability for 1aywh nyawv)
¢ suggested answer: could be either; 2 are 2vn%, other 2 are 710485
i challenge: 4 sets together, include wy» mran, all of which are 21n%
d  suggested answer2: could be YRynw *1; he exempts 12pw5 NY1aw from j17p,not from mon
i source: X171 — NN extended pw NP1V (HRYNY? “1's take on 12YWY) as part of kNY NV
1 challenge: how can we give man for “I did eat” but he didn’t — no nwyn?
2 answer: YRynw "1 allows for man for n”arRw X
(a) problem: this generates a contradiction within janv "
(i) on the one hand: he ruled that nwn DNl NIYN (2 N"ARY RY HY PPY)
(ii) but: he ruled that there are no man for 9218w NY1aw — as his non-eating is a N”aRWY IRY
(b) resolutionl: relied on other (3”8 man) onv; no Man for I (or for breaking bone of XNV — per v. 1)
(i) block: perhaps the reason is per nTI? 1 (NWYY PN2IN IRY — V. 2), not 2Py’ "1 (P"aRWY IRY)
(c) resolution2: relied on other (3”8 M»2aw) ono — that if he takes a N»aw not to eat and repeats it — only
271 once (because NY1aWN Yy NN MMV PR) > if he takes an oath to eat, no man at all — n”arw RS
(i) explanation: uses wording “this is the oath for which there is nan for 71, 129p for anw”
(d) question: why did 13nv "1 prefer the (3”a m»awv) ono over our ono?
(e) additionally: why did »a7 present opposite positions as nno?
(i) answer; originally, a7 held that Y9y P> n”arw WY
1. then: he changed his mind — and nmpnn nrr XY mwn
a. meaning: once it was memorized that way by Rin, we don’t reformat it
b. note: this entire presentation follows the approach that our nwn is authored by
9RYNW»1 and that the liability for the “other” 2 myaw is man = %Y PI% N”7aRY RY;
c.  but: stay tuned...
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